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Calculation puzzle

You will need the following 
counters and a paper copy of 
this puzzle.

Using the counters only once, 
can you solve this puzzle?
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Calculation puzzle

You will need the following 
counters and a paper copy of 
this puzzle.

Using the counters only once, 
can you solve this puzzle?
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Calculation puzzle

You will need the following 
counters and a paper copy of 
this puzzle.

Using the counters only once, 
can you solve this puzzle?
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Calculation puzzle

You will need the following 
counters and a paper copy of 
this puzzle.

Using the counters only once, 
can you solve this puzzle?
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Calculation puzzle

You will need the following 
counters and a paper copy of 
this puzzle.

Using the counters only once, 
can you solve this puzzle?
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Calculation puzzle

You will need the following 
counters and a paper copy of 
this puzzle.

Using the counters only once, 
can you solve this puzzle?
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Calculation puzzle

You will need the following 
counters and a paper copy of 
this puzzle.

Using the counters only once, 
can you solve this puzzle?
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Calculation puzzle

You will need the following 
counters and a paper copy of 
this puzzle.

Using the counters only once, 
can you solve this puzzle?
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Calculation puzzle

You will need the following 
counters and a paper copy of 
this puzzle.

Using the counters only once, 
can you solve this puzzle?
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Calculation puzzle

You will need the following 
counters and a paper copy of 
this puzzle.

Using the counters only once, 
can you solve this puzzle?
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